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1. The value of tgn =1 2 in radians: < S8tan~1 20tk A

0.4636 (D) 0.4636 Tt (C) 31

2. In aright triangle, the hypotenuse is 13 units and one of the angles is
6 = 30°. The length of the opposite side is:

5 units UL¢15 (D) 6 units U616 (C)
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< SUST e & 30° 3Ll U135t sl a1 1276 2
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3 (A)

7.5 units UL617.5 (B) 6.5 units UL616.5 (A)

3. A person standing 50 m away from a building sees the top of the building at ;ng,ruf;,iu_,»_&f 3z 404 ;J’ ¢ AJ%DI J f,u( -, Mf n ;dﬁ,-;mS{};_;,JLf 3

an angle of elevation of 45°. Height of the building is:

70m (D) 35m (C)
4. sec’6—tan®o:
cot® 6 (D) cos?6 (C)
Ifsin @ = %and @ is an acute angle, cog2Q = ------
4 16
— (D - (C
25 ) 25 ©)
6. 511
— = degrees
>4 rad g
52.5° (D) 45° (C)
7. 29258%= .. rad
1.625 1t (D) 1.6 Tt (C)
8. Which of the following is a valid identity:
T T
cns(? - 6) = cosec 6 (D) cns(i - 9) = sec 6 (C)
9. Sin60°=......:
V3 ) v (3 ©
2
10. cos? 100 Tt +sin® 100 T = -’
4 (D) 3 (C)
Q2. Write short answers of the following questions.

25m (B) 50m (A)
:sec’6—tan’6 4
1 (B) sin%6 (A)
...... zcoszeﬁﬂf}liaﬂrb{le..f:I'Sin 6= %,ﬁ 3

24 4
—— (B — (A
25 ) 25 A
_oT 6

------ od rad

37.5° (B) 30° (A)
:292.5%. .. .rad .7

17Tt 17T
Y (- —— (A
1 (B) ~ (A)

?»T_.J':ﬁ Jgf:w;_{luﬂ_—,rf;.btdiau 8

cns(% — 9) =cos 6 (B) CDS(% - 9) =sin 6 (A)
....... =Sin60° .9
1 (A)

1
> (B)

... "c08% 100 TT+sin® 100 T -10
2 (B) 1 (A)
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| . Find in which quadrant the following angles lie. Write a co-terminal angle for
the following: -40°

Il . Find in which quadrant the following angles lie. Write a co-terminal angle
for the following: 210°

Il . Convert the following into radians: 36°
IV . Convert the following into radians: 22.5°

V . Convert 73.12° to degrees, minutes and seconds.

VI . Show that: tan 6 + cos 6 = sec 6 cosec 6

Vil .
If tan @ = —, find the remaining trigonometric ratios, when @ lies in

first quadrant.

VIII . Find the value of the following trigonometric ratios without using the
calculator: cos 30°

IX . Find the value of the following trigonometric ratios without using the

calculator: cos It

3

X . Convert the given angles from degrees to radians giving answer in term of
1. 2557

Q3. Write detailed answers of the following questions.
1. Prove the following trigopnometric identities:
1—sin6
1+sin@

2. The diagonal of a rectangular field ABCD is (x + 9)m and the sides are (x +
7)m and x m. Find the value of x. (image)
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